MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

LINEAR EQUATION IN ONE VARIABLE

1. 2z 4+ 3y =15, 7Tz — % = 3 are equations in two

variables x and y .

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8JkIcbfH8L1I

2. Verify that z = 4 is a root of the equation 2z — 3 =5

° Watch Video Solution

3. Verify that £ =8 is a solution of the equation

Sr — 4 a:—3_x+6
8 5 4

o Watch Video Solution

4. Verify that x = 4 is a root of the equation 2z — 3 = 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_VOjGWj8ceb83
https://dl.doubtnut.com/l/_IunzAiHPrj1f
https://dl.doubtnut.com/l/_2xOl1vvqTnfC

5. Solve the equation: Z + 11 =

5

result.

1
b and check the

o Watch Video Solution

6. Sol L 5—6
.ove.3x—2— .

o Watch Video Solution

T T
7.Solve: — — =
ove2 3 8

o Watch Video Solution



https://dl.doubtnut.com/l/_tKBtbIozqss5
https://dl.doubtnut.com/l/_vhg4EYWl5O34
https://dl.doubtnut.com/l/_B6aOtAyiLXkP

8. Solve: % + z_ =7

z
3 4

° Watch Video Solution

y—1 y—2
olve 3 4

o Watch Video Solution

10. Solve each of the following equations and also verify

your solution:

mgl— =
1 Y73
Q)M—%2—1

3 "5

o Watch Video Solution



https://dl.doubtnut.com/l/_6tiqmrpnSjjj
https://dl.doubtnut.com/l/_mxv4ET4ikoV6
https://dl.doubtnut.com/l/_IXgPx0VBASJR

11. Solve each of the following equations and also verify

T T 1
3()2+8

our solution: z + z +
y ' 3 8

z
2 4

o Watch Video Solution

12. Solve each of the following equations

2z 3z 7

3 8 12
(id)(z +2)(z +3) + (z — 3)(z — 2) — 2z(z + 1) = 0

o Watch Video Solution

13. Solve each of the following equations and also verify

3 1

your solution: r_ é + z + o _ 2 (2)
2 5 5 10 5

7 1

— +35 = —
x+ 10


https://dl.doubtnut.com/l/_wCD4OGd0SMcy
https://dl.doubtnut.com/l/_pSpQnHJZfZaR
https://dl.doubtnut.com/l/_gNWYx9e6PguA

o Watch Video Solution

14. Solve each of the following equations:
(i)2:1:—1 6:13—2_1
3 3 3
(12)13(y —4) =3(y—9) —5(y+4) =0
2 1 9

(i) 5 (z = 5) — g (e —2) = 5

o Watch Video Solution

3-2 2A+43 2
4 3 3

15. Solve :

o Watch Video Solution

16. Sol T+ 2 11 — z 1 _333—4
POONVE e T 3 1) 12



https://dl.doubtnut.com/l/_gNWYx9e6PguA
https://dl.doubtnut.com/l/_vFwbOz79ZQMS
https://dl.doubtnut.com/l/_3879xkOvk2OA
https://dl.doubtnut.com/l/_nEBJBc99gQBI

o Watch Video Solution

2z + 8 B 1

2—x 5
3 I\ 76 )~

17.Solve : & —

° Watch Video Solution

18.Solve: 0. 16(5x — 2) = 0.4z + 7

o Watch Video Solution

2
19. Solve: — =
9.5olve: = — = = ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_nEBJBc99gQBI
https://dl.doubtnut.com/l/_TP4VfMtTfAeO
https://dl.doubtnut.com/l/_NW1RhnNHVhrC
https://dl.doubtnut.com/l/_vuTUyhWCqUPG
https://dl.doubtnut.com/l/_2hiQ6PiBGnc8

20.So|ve:u — Az + 2 :5—6w+M
3 3
o Watch Video Solution
2 1 —
21.So|ve:w+ _a:—|— :w 3—1
3 5 4
o Watch Video Solution
22. Solve:

(2 +3)% + (22 —3)2 = (8z + 6)(z — 1) + 22

o Watch Video Solution



https://dl.doubtnut.com/l/_2hiQ6PiBGnc8
https://dl.doubtnut.com/l/_I7DkI3oASOtd
https://dl.doubtnut.com/l/_Ek3AwQfNJXYQ

23. Solve each of the following equations

2zc+5_3 10 2) a—8_a—3
g 7 3 2
Ty + 2 6y — 5

2x + 2 10 +5=3 ’
xr — 2z =7 = 37

o Watch Video Solution

24. Solve each of the following equations: (i)

A Tr 6= Tz + (i) o+ 4z = © + 6z — 6 (i)
Eaz—l— T — —az—|—Z||Zm—|— :13—§—|— T — i
7 5 20 .o bx +1 Tz — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_HkksgCUxoygr
https://dl.doubtnut.com/l/_3xJjxrBX1BRX

25. Solve the following equations and also check your

result in each case:
(Bz+1) (2z2-3) (z+3) (3z—-1)

O T~ =3 " u
(1 —2x) (2 — 3z) 3 T

) —— -5 ~—3*7
o9+ 7 r — 2

(441) 5~ (:1: -— ) = 36

(4v)0. 18 (5x — 4) = 0.5z + 0. 8

o Watch Video Solution

26. Solve each of the following equations and also check

your result in each case:

19. bx — 32. 5 13z — 26
6. br + = 6.9z + 13 + — 5

2
3z —8)3xz+2)— (e —11) 2z +1) = (z —3)x + 7)

[(2z + 3) + (z + 5))° + [(2z + 3) — (z + 5)]* = 1022 + 92



https://dl.doubtnut.com/l/_6g73zVO5LkX0
https://dl.doubtnut.com/l/_vTa12T75tv0A

o Watch Video Solution

2¢ + 1 B 9
3z —2 10

27.Solve :

o Watch Video Solution

3 5
T + _ 4

28. Solve: =
20 + 7

o Watch Video Solution

17(2 — z) — 5(z + 12)

29. =8

1—Tx

o Watch Video Solution



https://dl.doubtnut.com/l/_vTa12T75tv0A
https://dl.doubtnut.com/l/_cVnVA4Vur3Fl
https://dl.doubtnut.com/l/_KXnBB2Eb75sf
https://dl.doubtnut.com/l/_GSWWkQNv0gfs
https://dl.doubtnut.com/l/_plQmg72RxI70

w—l—b_ r—0b

30. Solve: =
N b T a+b

o Watch Video Solution

(44 z) T
31. Solve: =1
(2+z) T

o Watch Video Solution

32. Sol t o,
PO T T 212 T 110

o Watch Video Solution

6x2 + 13z — 4 B 1222 + 5z — 2

33. Solve: =
olve 2 + 5 4r + 3

[ o Watch Video Solution


https://dl.doubtnut.com/l/_plQmg72RxI70
https://dl.doubtnut.com/l/_DHpPi2gm5Hzg
https://dl.doubtnut.com/l/_laeuVLbBoEEJ
https://dl.doubtnut.com/l/_iqHqQUjgFD5c

Tx x + 16

4z + 17 132z — 2
—_— +

T
34. Solve: 13 33 T3 D 36

o Watch Video Solution

35. Solve the equation and verify your answer:

2t —3 2

3z +2 3

o Watch Video Solution

36. Solve the equation and verify your answer:

2—vy 3

y+7:5

o Watch Video Solution



https://dl.doubtnut.com/l/_iqHqQUjgFD5c
https://dl.doubtnut.com/l/_bW19hunnn1qY
https://dl.doubtnut.com/l/_JzYh8k88JYtT
https://dl.doubtnut.com/l/_wIRRqwkVn7dh

37. Solve the equation and verify your answer:
Sx — 7
= 2

3z

o Watch Video Solution
38. Solve the equation and verify your answer:
3z +5 9

2¢ +7 1

o Watch Video Solution
39. Solve the equation and verify your answer:

2y + 5
=1
y+4

o Watch Video Solution



https://dl.doubtnut.com/l/_lnR4YzfPNtLN
https://dl.doubtnut.com/l/_g8x5Y1tdKkSt
https://dl.doubtnut.com/l/_NhRqiHU6bIUz

40. Solve the equation and verify your answer:

2¢ + 1 5

3z—2 9

o Watch Video Solution

41. Solve the equation and verify your answer:

1—9y 5

193y 8

o Watch Video Solution

42. Solve the equation and verify your answer:

2 B
3z +1

-3

o Watch Video Solution



https://dl.doubtnut.com/l/_RFKRWKACv4Wc
https://dl.doubtnut.com/l/_b8DYflONo5KS
https://dl.doubtnut.com/l/_9hAvrgTpVUHL

43. Solve the equation and verify your answer:

y—(7-8y) 2

9y — (3+4y) 3

o Watch Video Solution

44. Solve the -equation and verify your answer:

6 2

2 — (3—4z) 3

o Watch Video Solution

45. Solve the equation and verify your answer:

2 3 1

3z 2z 12

o Watch Video Solution



https://dl.doubtnut.com/l/_I11WLFbbwGy2
https://dl.doubtnut.com/l/_22bUJrsS8VaD
https://dl.doubtnut.com/l/_inYvpHeLP1c6

46. Solve the equation and verify your

3xr + 5 _ 3r+4
A +2 4z + 7

answer:

o Watch Video Solution

47. Solve the -equation and verify your

x—2 3r—4
520 —1 z+6

answer:

o Watch Video Solution

48. Solve the equation and verify your

a:—|—2_ T
r+5 x+6

answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wXHGmv1u1A8e
https://dl.doubtnut.com/l/_wgT9OkNLs2JB
https://dl.doubtnut.com/l/_3aKjlIjU488O

49. Solve the equation and verify your answer:

2z — (7 — 5x) 7

9z — (3+4x) 6

o Watch Video Solution

50. Solve the equation and verify your answer:

15(2 — z) — 5(z + 6)

=1
1— 3z 0

o Watch Video Solution

51. Solve the -equation and verify your answer:

z+ 3 :1:—1—2_

=2
m—3+:1:—2

o Watch Video Solution



https://dl.doubtnut.com/l/_PX73tw4Ja46d
https://dl.doubtnut.com/l/_SvKVq7R3NM64
https://dl.doubtnut.com/l/_LCUPMif4kLEE

52. Solve the -equation and verify your answer:

(22 +3) — (bz —T7) 8

6x + 11 a 3

o Watch Video Solution

53. Find the positive value of x for which the given

equation is satisfied: -9 _ 3 (ii) y+e 1
5+ z? 9 T 3y2+T7 2

o Watch Video Solution

54. A number is such that it is as much greater than 84 as

it is less than 108. Find it.

o Watch Video Solution



https://dl.doubtnut.com/l/_qfXsJVRNgvU8
https://dl.doubtnut.com/l/_CtUhojObjjce
https://dl.doubtnut.com/l/_DdRXLqUvuEaA

55. A number is 56 greater than the average of its third

quarter and one twelfth. find it .

o Watch Video Solution

56. A number consists of two digits whose sum is 8 if 18 is
added to the number its digits are reversed find the

number.

o Watch Video Solution

4
57.Divide 34 in to two parts in such a way that (7) (th)

2
of one part is equal to (g)th of the other.

I o WMiabk L . \ 2 daa Al a l


https://dl.doubtnut.com/l/_gUnyyrTCu9IC
https://dl.doubtnut.com/l/_nldSj0fQaqHp
https://dl.doubtnut.com/l/_ipqtpic5D6w0

| ——vvdtilll VIUGCUY JVIVLIVIE )

58. The numerator of a fraction is 4 less than
denominator. If 1 is added to both its numerator and

denominator, it becomes 2. Find the fraction.

o Watch Video Solution

59. Saurabh has Rs 34 fifty paise and twenty-five coins. If
the number of 25. paise coins be twice the number of 50

paise coins, how many coins of each type does he have:?

o Watch Video Solution



https://dl.doubtnut.com/l/_ipqtpic5D6w0
https://dl.doubtnut.com/l/_qmfXs11it4pS
https://dl.doubtnut.com/l/_IZXPZgOGCp8U

60. Arvind has Piggy Bank . It is full of one-rupee and fifty-
paise coins. It contains 4 times as many fifty paise coins as
one rupee coins. The total amount of the money in the
bank is Rs 35. How many coins of each king are there in

the bank:

o View Text Solution

61. Kanwar is three years older anima. six years ago
kanwar was four times animas age find the ages of kanwar

and anima.

o Watch Video Solution



https://dl.doubtnut.com/l/_gyeQ5sXjAiCl
https://dl.doubtnut.com/l/_GG5nmLFKTMx0

62. After 12 years | shall be 3 times as old as | was 4 years

ago. Find my present age.

o Watch Video Solution

63. My age is four times the difference of my age after

four years and my age three years back. How old | am?

o Watch Video Solution

64. Hamid has three boxes of different fruits. Box A weighs
1 1
25 kg more than box b and box c weighs 1OZ kg more
3
than box B. The total weight of the boxes is 48 1 How

many kg does box A weigh?


https://dl.doubtnut.com/l/_0Zzgo6pvSgrD
https://dl.doubtnut.com/l/_DFrf2RpUVbDP
https://dl.doubtnut.com/l/_GEGfysR1UNa5

o Watch Video Solution

65. There are 90 multiple choice questions in a test.
Suppose you get two marks for every correct answer and
for every question you leaver unattempted or answer
wrongly, one mark is deducted from your total score of
correct answers. If you get 60 marks in the test, then how

may questions did you answer correctly?

o Watch Video Solution

66. A man sold an article for Rs 490 and gained 10% on it.

Find the cost price of the article.

o Watch Video Solution



https://dl.doubtnut.com/l/_GEGfysR1UNa5
https://dl.doubtnut.com/l/_EXpgUeRIcSfQ
https://dl.doubtnut.com/l/_qbbURD2Fa5CP

67. How much pure alcohol be added to 400 ml of a 15%

solution to make its strength 32%?

o Watch Video Solution

68. 50 kg of an alloy of lead and tin contains 60% lead.
How much lead must be melted into it to make an alloy

containing 70% lead?

° Watch Video Solution

69. The sum of two numbers is 2490. If 6.5% of one

number is equal to 8.5 % of the other, find the numbers.


https://dl.doubtnut.com/l/_qbbURD2Fa5CP
https://dl.doubtnut.com/l/_cwEhtRv3wGTR
https://dl.doubtnut.com/l/_s6sD4cnfkJCG
https://dl.doubtnut.com/l/_POBpJX0905qT

o Watch Video Solution

70. The sum of two numbers is 45 and their ratio is 7:8 .

Find the numbers.

° Watch Video Solution

71. Two numbers are such that the ratio between them is
3:5. If each is increased by 10, the ratio between the new

numbers so formed is 5:7. Find the original numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_POBpJX0905qT
https://dl.doubtnut.com/l/_EHT13jtHh1PY
https://dl.doubtnut.com/l/_jRLFb2m27SXa

72. Three prizes are to be distributed in a quiz contest.
The value of the second prize is five sixths the value of the
first prize and the value of the third prize is four-fifths
that of the second prize. If the total value of three prizes

is Rs 1500, find the value of each prize.

o Watch Video Solution

73.Divide Rs 1380 among Ahmed, john and Babita so that
the amount Ahmed receives is 5 times as much as Babita’s

share and is 3 times as much as john'’s share.

o Watch Video Solution



https://dl.doubtnut.com/l/_UsR73WHWyR1S
https://dl.doubtnut.com/l/_oBO3cDofewZQ

74.The length of a rectangle exceeds its breadth by 4 cm.
If length and breadth are each increased by 3 cm, the area

2 more than that of the

of the new rectangle will be 81 cm
given rectangle. Find the length and breadth of the given

rectangle.

o Watch Video Solution

75. An altitutde of a triangle is five -thirds the length of
its corresponding base. If the altitude were increased by 4
cm and the base be decreased by 2 cm, the area of the
triangle would remain the same. Find the base and the

altitude of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_yQjJKCgKuS1U
https://dl.doubtnut.com/l/_ioywbOhRQwjU

76. Four-fifth of a number is more than three-fourth of the

number by 4. Find the number

o Watch Video Solution

77.The difference between the squares of two consecutive

numbers is 31. Find the numbers.

o Watch Video Solution

78. Find a number whose double is 45 greater than its

half.

o Watch Video Solution



https://dl.doubtnut.com/l/_ioywbOhRQwjU
https://dl.doubtnut.com/l/_rrCo49g3GHOj
https://dl.doubtnut.com/l/_EA8lMYdpOATY
https://dl.doubtnut.com/l/_Pjks8S9Wybi9

79. Find a number such that when 5 is subtracted from 5
times the number, the result is 4 more than twice the

number.

° Watch Video Solution

80. A number whose fifth part increased by 5 is equal to

its fourth part diminished by 5. Find the number.

o Watch Video Solution

81. The sum of the digits of a two-digit number is 9. If 27 is

subtracted from the number, the digits get reversed. Find


https://dl.doubtnut.com/l/_Pjks8S9Wybi9
https://dl.doubtnut.com/l/_jrBg55jlJxQ8
https://dl.doubtnut.com/l/_zQR9XIt89S7m
https://dl.doubtnut.com/l/_PSXvWmfImBpY

the number.

o Watch Video Solution

82. Divide 184 into two parts such that one-third of one

part may exceed one-seventh of the other part by 8.

o Watch Video Solution

83. The numerator of a fraction is 6 less then the
denominator. If 3 is added to the numerator, the fraction

2
is equal to 3 .What is the original fraction equal to ?

o Watch Video Solution



https://dl.doubtnut.com/l/_PSXvWmfImBpY
https://dl.doubtnut.com/l/_0Ol7Bp9Xtvzc
https://dl.doubtnut.com/l/_KDlTx01G87d1
https://dl.doubtnut.com/l/_lTtJMkBHqVvN

84.A sum of rs 800 is in the form of denomination of rs 10
and rs 20.If the total nhumber of notes are 50, find the

number of notes of each type.

o Watch Video Solution

85. Seeta has Rs 9 in fifty -paise and twenty five-paise
coins. She has twice as many twenty=five paise coins as
the she has fifty-paise coins. How coins of each kind does

she have?

° Watch Video Solution

86. Sunita is twice as old as Ashima. If six years is

subtracted from Ashima’s and four years added to Sunita’s


https://dl.doubtnut.com/l/_lTtJMkBHqVvN
https://dl.doubtnut.com/l/_OxghefwTYMVL
https://dl.doubtnut.com/l/_vtFqbcvJ9Jlo

age, then Sunita wil be four times Ashima’s age. How old

were they two years age?

° Watch Video Solution

87.The ages of Sonal and Manoj are in the ratio 7:5. Ten
years hence the ratio of their ages will be 9: 7. Find their

present ages

o Watch Video Solution

88. Five years ago a man was seven times as old as his son.
Five years hence, the father will be three times as old as

his son. Find their present ages.

I o Wiak A \tAAA CAlLiikiAan



https://dl.doubtnut.com/l/_vtFqbcvJ9Jlo
https://dl.doubtnut.com/l/_lTiMooHKiPyO
https://dl.doubtnut.com/l/_8b1WqPKrjyno
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89.1 am currently 5 times as old as my son. In 6 years time
| will be three times as old as he will be then . What are

our ages now?

0 Watch Video Solution

90. | have Rs 1000 in ten and five rupee notes. If the
number of ten rupee notes that | have is ten more than
the number of five rupee notes, how many notes do | have

in each denomination?

o Watch Video Solution



https://dl.doubtnut.com/l/_8b1WqPKrjyno
https://dl.doubtnut.com/l/_rQTOBv7W00uy
https://dl.doubtnut.com/l/_x8RnTCo7WDB1
https://dl.doubtnut.com/l/_TYvRcDB4yc3o

91. At a party, colas, squash and fruit juice were offered to
guests. A fourth of the guests drank colas, a third drank
squash, two fifths drank fruit juice and just three did not

drink any thing. How many guests were in all?

o Watch Video Solution

92. There are 180 multiple choice questions in a test. If a
candidate gets 4 marks for every correct answer and for
every unattempted or wrongly answered question one
mark is deducted from the total score of correct answers.
If a candidate scored 450 marks in the test, how many

questions did he answer correctly?

o Watch Video Solution



https://dl.doubtnut.com/l/_TYvRcDB4yc3o
https://dl.doubtnut.com/l/_dMh0Zp4HsUmJ
https://dl.doubtnut.com/l/_RVagCWsVLh6M

93. A labourer is engaged for 20 days on the condition
that he will receive Rs 60 for each day, he works and he
will be fined Rs 5 for each day, he is absent. If he receives

Rs 745 in all, for how many days he remained absent?

° Watch Video Solution

1
94. Revish has three boxes whose total weight is 60§kg-
1
Box weighs 35 kg more than box A and box C weighs

1
55 kg more than box B. Find the weight of box A.

o Watch Video Solution



https://dl.doubtnut.com/l/_RVagCWsVLh6M
https://dl.doubtnut.com/l/_UYonnmvUvrWO

95. The numerator of a rational number is 3 less than the
denominator. IF the denominator is increased by 5 and
the numerator by 2, we get the rational number 1/2 .. Find

the rational number.

° Watch Video Solution

96. In a fraction, twice the numerator is 2 more than the

denominator. If 3 is added to the numerator and to the
. L2 .

denominator, the new fraction is 3 Find the original

fraction.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZL6RoEzkI4bF
https://dl.doubtnut.com/l/_x2sk153rQHSt

97. The distance between two stations is 340 km. Two
trains start simultaneously from these stations on parallel
tracks to cross each other. The speed of one of them is
greater than that of the other by 5 km/hr. If the distance
between the two trains after 2 hours of their start is 30

km, find the speed of each train.

° Watch Video Solution

98. A steamer goes downstream from one point to
another in 9 hours. IF covers the same distance upstream
in 10 hours. If the speed of the stream be 1 km/hr, find the
speed of the steamer in still water and the distance

between the ports.

| - |


https://dl.doubtnut.com/l/_cws5TXHoPd1U
https://dl.doubtnut.com/l/_cu2iWI4DQQeu

l &J Watch Video Solution I

99. Bhagwanti inherited Rs 12000.00. She invested part of
it as 10% and the rest at 12%. Her annual income from
these from investments is Rs 1280.00. How much did she

invest at each rate?

o Watch Video Solution

100. The length of a rectangle exceeds its breadth by 9 cm.
If length and breadth are each increased by 3 cm. the area

2 more than that of the

of the new rectangle will be 84 cm
given rectangle. Find the length and breadth of the given

rectangle.

Y. l


https://dl.doubtnut.com/l/_cu2iWI4DQQeu
https://dl.doubtnut.com/l/_tnjqp7MCHH7z
https://dl.doubtnut.com/l/_b4bMDEHx1voI

| ¥ VWatch Video >Solution J

101. The sum of ages of Anup and his father is 100. When
Anup is as old as his father now, he will be five times as
old as his son Anuj is now. Anuj will be eight years older
than Anup is now, when Anup is as old as his father. What

are their ages now?

O Watch Video Solution

102. A lady went shopping and spent half of what she had
on buying hankies and give a rupee to a beggar waiting
outside the shop. She spent half of what was left on a
lunch and followed that up with a two rupes tip. She

spent half of the remaining amount on a book and three


https://dl.doubtnut.com/l/_b4bMDEHx1voI
https://dl.doubtnut.com/l/_Z6eFmaU6b1Mo
https://dl.doubtnut.com/l/_oK02SUE3Up49

rupees on bus fare. When she reached home, she found
that she had exactly one rupee left. How much money did

she start with?

o Watch Video Solution



https://dl.doubtnut.com/l/_oK02SUE3Up49

